)
N

M3 USED TO CONNECT SAFETY WIRE

¢
&” I-u—n om |—||-I I “j/
SCALE (1:2)
246
80
16 46

4-M10

S

© O O
/
4-M5 @
) ’//’#}‘\\‘c> o
@75 ///K . ”
\\\\#&\\Cij\\ \
/Q 10 17
~ - M)
3-M4 | "1 00
o\ o
O | O |10 O
° | ° J
SCALE  (1:2)
(140 ) ©
134 T
© |
\\\\ff” I hf “‘1__3 ”?\
S
3
|
90°

SCALE (1:2)

M6 USED TO CONNECT SAFETY WIRE

©4%) o

©
@ ©
o
@) ////// ()
o|
©
Cutaway view A-A (1:2)
Bilateral symmetry '
INSTALLATION STATUS
155
A " o o]
O O o o © 0©) ||[O ©
o
©
© /
© ©o© ||
A
© ©
o\_/o
©
O O o ol ©
A/ﬂ §\L © o
SCALE (1:2) SCALE (1:2)
NO. |[Part Name Material Process *Remark
B Painting:W-Q185 Light grey
1 |Corner Mount Bracket (AL) |AL t=3mm W-Q189 Fine silver
2 |Corner Mount Bracket (SUS) [SUS304 t=omm |4 re0dy installed in Corner Nount
Bracket (AL)
3 |Mounting Holes(8 places) |- -
4 |Cable Access Hole - -
5 |Corner(Structure) - Vertical angle of the outer corner
Safety Wire Fixing ~
6 Aracket SUS304 Accessory (Only for WW-Q189)
7 |Mexogon socket head cap g aany Accessory (Only for W-Q189)
screw M10
8 Iount Bracket - Other Product: (W-Q183 connection W-Q185
PH BTOCEe W-Q189 connection WW-Q1224)
9 |Camera WW-CW314L - Other Product (Only for W-Q189)
10 [Camera WV-S1531LN - Other Product (Only for W-Q189)
171 |Camera W-ST531LN - Other Product (Only for W-Q189)
12 |Adapter Box or W-QI120A |- Other Product (Only for W-Q189)

AN
N

N\

o

@)

USE 4-M10 SCREW HOLES

hj \ ﬁ
4
v
i 1 3
|
e e @) @)
| 1 !
| I ‘ﬁ
R e EE
. Pt Y
: T i
PTTTTIT L RY 3
S~ R |
AT S
! TN v
o - \\ 1 H‘
T H
N
1 | \H[ﬂ
! ;l s
\li\r‘}#i
\1f1 9] @l
W J
5/

SCALE (1:4)
7,

J— Lol

= 9)
T TP
N S o, 1 -3
i Y"""'f """"" | }1-r“““"‘-7?: !
(1T +-----=--- : b - X :
i ! ) {Ilﬁu L
:u \ l /’,\l )‘i_.____\__ T
o ! i1y - R T
(VR Sl elefubuiguind Vo
L

|

J

USE 4-M5 SCREW HOLES

SCALE (1:4)

NN

WV -(
WV -

%
© ' A
\\\\\ %{ @)
+
L)
Z /é

USE 3-M4 SCREW HOLES
SCALE (1:4)

%
£ | D&
9 L
@ (T P &
’,’,““““r’—u-- -—‘11&:'”,4”‘§§E= 9” l’lrﬂr::zzq
S T ,‘h -
| S I St £
\ T K@{N(ﬂ 50
\ | W Lﬂ,_-k j:
' | Hy .- e
Voo - - 4 ¥ = /
i T T R SUp—— \:
® S il
. J
?/
. 7
USE 4-M5 SCREW HOLES(CONTAINS WV-Q120A CR ADAPTER BOX)
SCALE  (1:4)

SIWV-Q
J(WV-Q

85/YS)
89/7Y5)

.
.

APPERANCE M-Mb



